KEN

When Is a Wrestler “King of the Ring”?

Factor each trinomial below. Find your answer and notice the letter next to it.
Write this letter in the box containing the number of that exercise. Keep working
and you will get the gripping answer to the title question.
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What Happened When a Strong Wind
Blew Through the Boarding House?

Factor each trinomial below. Find one of the factors in each column of binomials. Notice the
letter next to one factor and the number next to the other. Write the letter in the box at the

bottom of the page that contains the matching number.
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OBJECTIVE 3-o0: To factor trinomials of the form ax? + bx + ¢,

where a is a positive integer greater than 1.
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